TUTORS: THIS IS A TAKE HOME QUIZ

If tanx = —6 and cscx < 0, find the values of the following trigonometric values using identities.
DO NOT USE TRIANGLES.

sinx = cOSx = tan x = secx = cotx =

TUTORS: THIS IS A TAKE HOME QUIZ

If cotx = —8 and secx < 0, find the values of the following trigonometric values using identities.
DO NOT USE TRIANGLES.

sinx = cosx = tanx = CcsCx = secx =
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Use the trigonometric substitution x = 3sec to write the algebraic expression v4x> —36 asa

T
trigonometric function of €, where 0 <6 < —.

2
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Use the trigonometric substitution x = 2tan @ to write the algebraic expression V9x? + 36 asa

V4
trigonometric function of €, where 0 < 6 < 7
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. . COSXx 2
Prove the identity = (Cot X —CSC x) .
1+cosx
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. . CcSCx+cotx
Prove the identity - =cotxcscx.
tan x +sinx
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